Canonical Symplectic Structures on the *r*-th Order Tangent Bundle of a Symplectic Manifold

J. KUREK¹, W.M. MIKULSKI²

 ¹Institute of Mathematics, Maria Curie Sklodowska University, Lublin, Plac Marii Curie Sklodowskiej 1, Poland
²Institute of Mathematics, Jagiellonian University, Kraków, Reymonta 4, Poland

e-mail: kurek@golem.umcs.lublin.pl, mikulski@im.uj.edu.pl

(Presented by Manuel de León)

AMS Subject Class. (2000): 58A20

Received January 18, 2006

0. INTRODUCTION

Manifolds and maps are assumed to be smooth (i.e., of class C^{∞}). Moreover, manifolds are assumed to be finite dimensional and without boundaries.

Symplectic structures are involved in the Hamilton equation of motion, [9]. That is why, constructions on symplectic manifolds or into symplectic manifolds have been studied in many papers, e.g. [1]-[3], [5], [8], [11], etc. For example, in [5], J. Janyška described all symplectic structures on the tangent bundle of a Riemannian manifold. In [8], we described all 2-forms (even all symplectic structures) on the tangent bundle of a symplectic manifold.

In the present paper we generalize by induction the result from [8] on the r-th order tangent bundle $T^r M = J_0^r(\mathbf{R}, M)$. We study how to construct canonically a 2-form (even a symplectic structure) $\Lambda(\omega)$ on $T^r M$ for a given symplectic 2m-manifold (M, ω) . This problem arises in the context of respective not necessarily regular $\mathcal{M}f_{2m}$ -natural operators Λ in the sense of [6], where $\mathcal{M}f_{2m}$ is the category of 2m-dimensional manifolds and their local diffeomorphisms. Since homotheties are not symplectomorphisms, it is difficult to apply the homogeneous function theorem and the problem of the operators in question is more difficult than the one for natural operators defined on all 2-forms.

We recall that a not necessarily regular $\mathcal{M}f_{2m}$ -natural operator in question is a family of functions

$$\Lambda: SYMP(M) \to \Omega^2(T^rM)$$

159

from the set SYMP(M) of symplectic forms on M into the set $\Omega^2(T^rM)$ of 2-forms on T^rM for any 2*m*-dimensional manifold M satisfying the naturality condition

$$\Lambda(\varphi^*\omega) = (T^r\varphi)^*\Lambda(\omega)$$

for any symplectic form ω on a 2*m*-manifold N and any local diffeomorphism $\varphi: M \to N$ between 2*m*-manifolds.

We describe completely all natural operators Λ in question.

The (k)-lift of a 2-form ω on M to T^rM is

$$\omega^{(k)} = pr_k \circ T^r \omega \circ (\eta \times_{id_{T^r M}} \eta) : TT^r M \times_{T^r M} TT^r M \to \mathbf{R} ,$$

where $\eta: TT^r M \to T^r TM$ is the usual flow equivalence,

$$T^r \omega : T^r (TM \times_M TM) = T^r TM \times_{T^r M} T^r TM \to T^r \mathbf{R} = J_0^r (\mathbf{R}, \mathbf{R})$$

is the value of the *r*-tangent bundle functor T^r at $\omega : TM \times_M TM \to \mathbf{R}$, and $pr_k : J_0^r(\mathbf{R}, \mathbf{R}) \to \mathbf{R}$ is the usual projection

$$pr_k(j_0^r\gamma) = \frac{d^k\gamma}{dt^k}(0)$$
.

The lift $\omega^{(k)}$ is a 2-form on $T^r M$ and it is proportional to the respective lift (of ω to $T^r M$) in the sense of A. Morimoto [10].

Given a symplectic form ω on M we have a 1-form $\omega^o = \tilde{\omega}^* \lambda$ on TM, where $\tilde{\omega} : TM \to T^*M$ is the obvious isomorphism induced by the non-degenerate 2-form ω and λ is the Liouville 1-form on T^*M . Then for $k = 0, \ldots, r-1$ we have 1-forms $(\omega^o)^{(k)}$ on $T^{r-1}TM$, the k-lifts defined quite similar as the k-lifts of 2-forms. We have the obvious inclusion $j : T^rM \to T^{r-1}TM$. Then for $k = 0, \ldots, r-1$ we have 1-forms $\omega^{[k]} = j^*(\omega^o)^{(k)}$ on T^rM .

The main result of the present note is the following classification theorem.

THEOREM 1. Let Λ be a not necessarily regular $\mathcal{M}f_{2m}$ -natural operator in question. Then there exist (uniquely determined by Λ) real numbers α_k and real numbers $c_{p,q}$ such that

(1)
$$\Lambda(\omega) = \sum_{k=0}^{r} \alpha_k \omega^{(k)} + \sum_{0 \le p < q \le r-1} c_{p,q} \omega^{[p]} \wedge \omega^{[q]}$$

for any symplectic structure ω on M.

The rather inductive proof of Theorem 1 will occupy Sections 1–4 of the paper.

Using Darboux coordinates, one can verify that the formula (1) defines a non-degenerate 2-form (i.e., a presymplectic form) if and only if $\alpha_r \neq 0$.

The formula (1) gives a closed 2-form if and only if all $c_{p,q} = 0$. Thus we have

COROLLARY 1. All canonical symplectic structures $\Lambda(\omega)$ on $T^r M$ over a symplectic manifold (M, ω) is of the form

$$\Lambda(\omega) = \sum_{k=0}^{r} \alpha_k \omega^{(k)}$$

for all real numbers α_k with $\alpha_r \neq 0$.

The usual coordinates on \mathbf{R}^{2m} will be denoted by $x^i, x^{\overline{i}}$, where $i = 1, \ldots, m$ and $\overline{i} = m + i$. From now on $\eta^o = j_0^r(t, 0, \ldots, 0) \in T^r \mathbf{R}^{2m}$. The standard symplectic form on \mathbf{R}^{2m} will be denoted by ω^o .

1. On density of some orbit

We start with the proof of the following fact.

PROPOSITION 1. The orbit of η^o with respect to local ω^o -symplectomorphisms preserving 0 is dense in $T_0^r \mathbf{R}^{2m}$.

Proof. The ω^{o} -symplectomorphism

$$(x^1, x^2 + x^1, x^3, \dots, x^m, x^{\overline{1}} - x^{\overline{2}}, x^{\overline{2}}, \dots, x^{\overline{m}})$$

sends η^{o} into $j_{0}^{r}(t, t, 0, ..., 0, 0, ..., 0)$, i.e., $j_{0}^{r}(t, t, 0, ..., 0, 0, ..., 0)$ is in the orbit.

Then using the ω^{o} -symplectomorphism

$$(x^1, x^2, x^3 + x^2, x^3, \dots, x^m, x^{\overline{1}}, x^{\overline{2}} - x^{\overline{3}}, x^{\overline{3}}, \dots, x^{\overline{m}})$$

we deduce that $j_0^r(t, t, t, 0, \dots, 0, 0, \dots, 0)$ is in the orbit.

Repeating this process (m-1)-times we deduce that $j_0^r(t, \ldots, t, 0, \ldots, 0)$ (*m*-times of *t*) is in the orbit.

Then using ω^{o} -symplectomorphisms $(x^{i}, x^{\overline{i}} + \gamma^{\overline{i}}(x^{i}))$ we deduce that

$$j_0^r(t,\ldots,t,\gamma^1(t),\ldots,\gamma^{\overline{m}}(t))$$

is in the orbit for any $\gamma^{\overline{i}} : \mathbf{R} \to \mathbf{R}$ with $(\gamma^{\overline{i}})'(0) \neq 0$ and $\gamma^{\overline{i}}(0) = 0$. Then using local ω^o -symplectomorphisms

$$(x^{i} - (\gamma^{\overline{i}})^{-1}(x^{\overline{i}}) + \gamma^{i}((\gamma^{\overline{i}})^{-1}(x^{\overline{i}})), x^{\overline{i}})$$

we deduce that

$$j_0^r(\gamma^1(t),\ldots,\gamma^m(t),\gamma^{\overline{1}}(t),\ldots,\gamma^{\overline{m}}(t))$$

is in the orbit for any $\gamma^{\overline{i}} : \mathbf{R} \to \mathbf{R}$ with $(\gamma^{\overline{i}})'(0) \neq 0$ and $\gamma^{\overline{i}}(0) = 0$ and for any $\gamma^{i} : \mathbf{R} \to \mathbf{R}$ with $\gamma^{i}(0) = 0$.

2. A reducibility Lemma

We will use the following reducibility lemma.

LEMMA 1. Let $\Lambda : SYMP(M) \to \Omega^2(T^rM)$ be a not necessarily regular $\mathcal{M}f_{2m}$ -natural operator transforming symplectic structures on 2*m*-manifolds M into 2-forms on T^rM . If $\Lambda(\omega^o)_{\eta^o} = 0$ then $\Lambda = 0$.

Proof. The lemma is a consequence of the naturality of Λ , the Darboux theorem and Proposition 1.

The reducibility lemma shows that Λ is uniquely determined by $D(\eta^o) = \Lambda(\omega^o)_{\eta^o}$. So it is sufficient to study 2-forms

$$D: \mathbf{R}\eta^o \to \bigwedge^2 T^* T^r \mathbf{R}^{2m}$$

defined on $\mathbf{R}\eta^o = \{\tau\eta^o \in T_0^r \mathbf{R}^{2m} \mid \tau \in \mathbf{R}\} \subset T_0^r \mathbf{R}^{2m}$ such that D is invariant with respect to 0-preserving ω^o -symplectomorphisms ψ with $T^r \psi(\mathbf{R}\eta^o) \subset \mathbf{R}\eta^o$ and $D(j_0^r(0))$ is invariant with respect to all 0-preserving ω^o -symplectomorphisms.

From now on we consider such D.

3. An expression of D

For k = 0, ..., r and a map $f : M \to \mathbf{R}$ on a manifold M we have the (k)-lift

$$f^{(k)} = pr_k \circ T^r f : T^r M \to \mathbf{R}$$

of f to T^rM , see [4]. The system

$$((x^i)^{(k)}, (x^i)^{(k)})$$

162

for i = 1, ..., m and k = 0, ..., r is the so called induced coordinate system on $T\mathbf{R}^{2m}$, see [4].

LEMMA 2. There exist real numbers $a_{k,l}$ and $b_{p,q,i}$ such that

(2)
$$D(\tau\eta^{o}) = \sum_{0 \le k < l \le r} a_{k,l} \tau^{2} d_{\tau\eta^{o}}(x^{\overline{1}})^{(k)} \wedge d_{\tau\eta^{o}}(x^{\overline{1}})^{(l)} + \sum_{i=1}^{m} \sum_{p,q=0}^{r} b_{p,q,i} d_{\tau\eta^{o}}(x^{i})^{(p)} \wedge d_{\tau\eta^{o}}(x^{\overline{i}})^{(q)}$$

for $\tau \in \mathbf{R}$. Moreover, $a_{k,r} = 0$ for $k = 0, \ldots, r - 1$.

Proof. We express $D(\tau \eta^o)$ as the combination with coefficients being smooth functions in τ of the restrictions of 2-forms from the obvious basis of 2-forms on $T^r \mathbf{R}^{2m}$ corresponding to the coordinates $((x^i)^{(k)}, (x^{\overline{i}})^{(k)})$. Then the invariance of D with respect to the ω^o -symplectomorphisms $(\tau^i x^i, \frac{1}{\tau^i} x^{\overline{i}})$ for $\tau^i \neq 0$ gives respective homogeneous conditions on the coefficients of D. Then using the homogeneous function theorem we get the expression (2) of $D(\tau \eta^o)$.

The ω^{o} -symplectomorphism

$$\psi = (x^1, \dots, x^m, x^{\overline{1}} - (x^1)^{r+1}, x^{\overline{2}}, \dots, x^{\overline{m}})$$

preserves η^o , $d_{\eta^o}(x^{\overline{1}})^{(k)}$ for $k = 0, \ldots, r-1$, $d_{\eta^o}(x^i)^{(k)}$ for $k = 0, \ldots, r$ and $i = 1, \ldots, m$ and $d_{\eta^o}(x^{\overline{j}})^{(k)}$ for $j = 2, \ldots, m$ and $k = 0, \ldots, r$, and it sends $d_{\eta^o}(x^{\overline{1}})^{(r)}$ into $d_{\eta^o}(x^{\overline{1}})^{(r)} + d_{\eta^o}(x^1)^{(0)}$. Then using the invariance of $D(\eta^o)$ with respect to ψ we get $a_{k,r} = 0$ for $k = 0, \ldots, r-1$.

The above facts complete the proof.

4. Proof of Theorem 1

Applying Lemma 2 and replacing D by

$$D - \sum_{0 \le p < q \le r-1} c_{p,q} (\omega^{[p]} \wedge \omega^{[q]})_{|\mathbf{R}\eta^o}$$

for respective real numbers $c_{p,q}$, we can assume

(3)
$$D(\tau\eta^{o}) = \sum_{i=1}^{m} \sum_{p,q=0}^{r} e_{p,q,i} d_{\tau\eta^{o}}(x^{i})^{(p)} \wedge d_{\tau\eta^{o}}(x^{\overline{i}})^{(q)}$$

for some real numbers $e_{p,q,i}$.

(*) Then

(4)
$$D(j_0^r(0)) = \sum_{i=1}^m \sum_{p,q=0}^r e_{p,q,i} d_{j_0^r(0)}(x^i)^{(p)} \wedge d_{j_0^r(0)}(x^{\bar{i}})^{(q)}$$

for some real numbers $e_{p,q,i}$. Moreover $D(j_0^r(0))$ is invariant with respect 0-preserving ω^o -symplectomorphisms.

By the induction on r we prove that

(5)
$$D(j_0^r(0)) = \sum_{k=0}^r \alpha_k \omega^{(k)} (j_0^r(0))$$

for some reals α_k .

We start with preparations.

By the invariance of $D(j_0^r(0))$ with respect to the ω^o -symplectomorphism $(-x^{\overline{i}}, x^i)$ we deduce that $e_{p,q,i} = e_{q,p,i}$.

Then using the invariance of $D(j_0^r(0))$ with respect to ω^o -symplectomorphism permuting the coordinates x^i and respectively permuting the coordinates x^i we get that $e_{p,q,i} = e_{p,q}$ for $i = 1, \ldots, m$.

The ω^{o} -symplectomorphism

$$\psi = (x^1, \dots, x^m, x^{\overline{1}} - (x^1)^{r+1}, x^{\overline{2}}, \dots, x^{\overline{m}})$$

preserves $d_{j_0^r(0)}(x^i)^{(k)}$ for k = 0, ..., r and i = 1, ..., m and it preserves $d_{j_0^r(0)}(x^{\overline{j}})^{(k)}$ for j = 2, ..., m and k = 0, ..., r, and it sends $d_{j_0^r(0)}(x^{\overline{1}})^{(r)}$ into $d_{j_0^r(0)}(x^{\overline{1}})^{(r)} + d_{j_0^r(0)}(x^1)^{(0)}$. Then using the invariance of $D(j_0^r(0))$ with respect to ψ we get $e_{p,r,1} = 0$ for p = 1, ..., r.

Then replacing $D(j_0^r(0))$ by $D(j_0^r(0)) - \alpha_r \omega^{(r)}(j_0^r(0))$ for some real number α_r , we have

(6)
$$D(j_0^r(0)) = \sum_{i=1}^m \sum_{p,q=0}^{r-1} e_{p,q} d_{j_0^r(0)}(x^i)^{(p)} \wedge d_{j_0^r(0)}(x^{\overline{i}})^{(q)}$$

Then the first inductive step (the case r = 1) of the proof of formula (5) is clear.

Assume that (5) holds for r - 1 instead of r. By (6),

$$D(j_0^r(0))(v_1, v_2) = D(j_0^r(0))(\tilde{v}_1, \tilde{v}_2)$$

for any $v_1, v_2, \tilde{v}_1, \tilde{v}_2 \in T_{j_0^r(0)} T^r \mathbf{R}^{2m}$ satisfying $T \pi_{r-1}^r(v_1) = T \pi_{r-1}^r(\tilde{v}_1)$ and $T \pi_{r-1}^r(v_2) = T \pi_{r-1}^r(\tilde{v}_2)$.

The last fact yields that there is a unique 2-form $\tilde{D}(j_0^{r-1}(0))$ satisfying the same property (*) as $D(j_0^r(0))$ with r-1 playing the role of r such that

(7)
$$D(j_0^r(0))(v,w) = \tilde{D}(j_0^{r-1}(0))(T\pi_{r-1}^r(v), T\pi_{r-1}^r(w))$$

for any $v, w \in T_{j_0^r(0)}T^r \mathbf{R}^{2m}$.

So, $D(j_0^r(0)) = \sum_{k=0}^{r-1} \alpha_k \omega_{j_0^r(0)}^{(k)}$ by the inductive assumption.

The proof of formula (5) is complete.

Summing up, we have proved that

$$D = \sum_{k=0}^{r} \alpha_k \omega_{|\mathbf{R}\eta^o}^{(k)} + \sum_{0 \le p < q \le r-1} c_{p,q} (\omega^{[p]} \wedge \omega^{[q]})_{|\mathbf{R}\eta^o}$$

for some reals α_k and $c_{p,q}$.

Now, Theorem 1 is an immediate consequence of Lemma 1.

References

- DEBECKI, J., Invariant vector fields of Hamiltonians, Arch. Math. (Brno), 34 (2) (1988), 295-300.
- [2] DOUPOVEC, M., On the symplectic structure of some natural bundles, in "Differential Geometry and Applications", Proc. of 7th Internat. Conf. Brno August 1998, Masaryk University, Brno, 1999, 223-230.
- [3] DOUPOVEC, M., KUREK, J., Natural operations of Hamiltonian type on the cotangent bundle, in "The Proceedings of the 16th Winter School Geometry and Physics (Srní, 1996)", *Rend. Circ. Mat. Palermo (2) Suppl.*, 46 (1997), 81-86.
- [4] GANCARZEWICZ, J., MIKULSKI, W.M., POGODA, Z., Lifts of some tensor fields and connections to product preserving functors, *Nagoya Math. J.*, 135 (1994), 1–41.
- [5] JANYŠKA, J., Natural 2-forms on the tangent bundle of a Riemannian manifold, in "The Proceedings of the Winter School Geometry and Topology (Srní, 1992)", Rend. Circolo Mat. Palermo, Serie (2) Suppl., 32 (1993), 165–174.
- [6] KOLÁŘ, I., MICHOR, P.W., SLOVÁK, J., Natural Operations in Differential Geometry, Springer- Verlag, Berlin, 1993.
- [7] KOLÁŘ, I., MODUGNO, M., Torsion of connections on some natural bundles, Differential Geom. Appl., 2 (1) (1992), 1–16.
- [8] KUREK, J., MIKULSKI, W.M., Symplectic structures on the tangent bundles of symplectic and cosymplectic manifolds, Ann. Polon. Math., 82 (3) (2003), 273-285.
- [9] DE LEON, M., RODRIGUES, P.R., Generalized Classical Mechanics and Field Theory, North-Holland Mathematics Studies 112, North-Holland Publishing Co., Amsterdam, 1985.

- [10] MORIMOTO, A., Liftings of tensor fields and connections to tangent bundles of higher order, Nagoya Math. J., 40 (1970), 99–120.
- [11] TULCZYJEW, W.M., Hamiltonian systems, Lagrangian systems, and the Legendre transformation, Sympos. Math., 14 (1974), 247-258.